POMPA
ADAPTORLERI
PUMP FLANGES

ADAPTADORES

POMPA ADAPTORLERI
PUMP FLANGES



DZA DOVME
POMPA ADAPTORU

}
Y

é <
I F Y
ofing /‘M

KESIT (SECT.) G-G

15.88X2.62
DZA 435 R 3/8" M 6X20 18.72X2.62
DZA 440M6 R 1/2" 40 16 10 22 6.5 M 6X20 22X3
DZA 440 R1/2" 40 16 10 22 8.5 M 8X20 22X3
DZA 448 R 3/4" 48 22 12 25 8.5 M 8X20 29X4

DZA 451 R 3/4" 51 22 12 25 10.5 M 10X25 29X4
DZA 456 R 3/4" 56 22 12 25 10.5 M 10X25 29X4




STRAIGHT FLANGE
MOUNTING PIPE
THREADED STEEL

H1 A

KESIT (SECT.) K-K

EDZA 4 R 1/4" 13.1X2.62

EDZA 428 R 1/4" 7 M 6X16 13.1X2.62
EDZA 430 R 3/8" 30 12 7 1 8 6.5 M6X16  15.88X2.62
EDZA 435 R3/8" 35 13 7 18 6.5 M6X16  18.72X2.62
EDZA 440M6 R 1/2" 40 17 7 18 6.5 M 6X20 22X3
EDZA 440 R1/2" 40 17 7 18 8.5 M 8X20 22X3
EDZA 448 R 3/4" 48 22 7 22 8.5 M 8X20 29X3
EDZA 451 R 3/4" 51 22 7 22 10.5 M 10X25 29X3
EDZA 456 R1" 56 28 7 22 10.5 M 10X25 34X3
EDZA 462 R1" 625 28 10 28 13 M 12X25 38X3
EDZA 472 R1" 725 28 10 28 13 M 12X25 38X3




EDZA ERKEK
POMPA ADAPTORU

oL

@ D1

O-Ring "] 2

KESIT (SECT.) N-N

EDZA E435L10 M 16x1.5 18.72X2.62
EDZA E435L12 L12 M 18x1.5 M6X20 18.72X2.62
EDZA E435L15 L15 M22x1.5 35 1 3 30 6.5 M6x20 18.72X2.62
EDZA E435S16 S16 M24x15 35 13 30 6.5 M6x20 18.72X2.62
EDZA E440L15 L15 M 22x1.5 40 13 35 6.5 M6x20 22X3
EDZA E440L18 L18 M26x1.5 40 16 35 6.5 M6x20 22X3
EDZA E440L22 L22 M 30x2 40 19 35 6.5 M6x20 22X3
EDZA E440L28 L28 M 36x2 40 19 35 6.5 M6x20 22X3
EDZA E455S20 S20 M 30x2 65 14 35 85 M8x25 29X3




FLANGE MOUNTING
90° PIPE THREADED

oD
oL
|

oD1
B - e

DRA 330-38 15.88X2.62
DRA 330-12 R 1/ " M 6X20 15.88X2.62
DRA 335-38 R 3/8" 30 19 35 14 6.5 M6X20  18.72X2.62
DRA 335-12 R1/2" 30 19 35 14 6.5 M6X20 18.72X2.62
DRA 335-34 R 3/4" 30 19 35 14 6.5 M6X20 18.72X2.62
DRA 340-12 R1/2" 38 22 40 19 85 M8X25 22X3
DRA 340-34 R 3/4" 38 22 40 19 85 M8X25 22X3
DRA 348-34 R 3/4" 44 27 48 19 85 M8X25 29X4
DRA 348-1 R1" 44 27 48 19 85 M8X25 29X4
DRA 351-34 R 3/4" 45 27 51 245 105 M10X25 29X4
DRA 351-1 R1" 45 27 51 245 105 M 10X25 29X4

DRA 356-34 R 3/4" 45 27 56 245 105 M10X25 29X4
DRA 356-1 R1" 45 27 56 245 105 M10X25 29X4




DRA 4 DELIKLI
POMPA ADAPTORU

oL M

Y
1

eo O-Ring )‘

!
A

DRA 430-38 3/8" M 6X20-6X35 15.88X2.62
DRA 430-12 R 172" M 6X20-6X35 15.88X2.62
DRA 435-38 R 3/8" 42.5 18 35 14 6.5 M 6X20-6X35 18.72X2.62
DRA 435-12 R1/2" 425 18 35 14 6.5 M6X20-6X35 18.72X2.62
DRA 440-12 R1/2" 475 24 40 17 6.5 M 6X20-6X35 22X3
DRA 440-34 R3/4" 475 24 40 17 6.5 M 6X20-6X35 22X3

DRA 455-34 R 3/4" 54 29 65 25 8.5 M 8X45-8X60 29X4
DRA 455-1 R1" 54 29 55 25 8.5 M 8X45-8X60 29X4




FLANGE
MOUNTING 90°

oL M

o
N — 8 — O-Ring / v

@D1

DRAE 435 M22 M 6X20-6X35  18.72X2.62
DRAE 435 M24 S1 6 M24X1 5 M 6X20-6X35  18.72X2.62
DRAE 435 M26 L18 M26X1.5 45 25 35 15 6.5 M 6X20-6X35  18.72X2.62
DRAE 435M30 S20 M30X2 45 25 35 15 6.5 MB6X20-6X35 18.72X2.62
DRAE 440 M22 L15 M22X1.5 40 28 40 20 6.5 M 6X20-6X35 22X3
DRAE 440 M26 L18 M26X1.5 40 28 40 20 6.5 M 6X20-6X35 22X3
DRAE 440 M30 L22 M30X2 40 28 40 20 6.5 M 6X20-6X35 22X3
DRAE 440 M30 S20 M30X2 40 28 40 20 6.5 M 6X20-6X35 22X3
DRAE 440 M36 L28 M36X2 40 28 40 20 6.5 M 6X20-6X35 22X3
DRAE 455 M30 S20 M30X2 46 24 55 16 85 M 8X20-8X50 29x4




SAE YARIM AY
FLANS

SAE FK 3000 PSI

FK 3001

FK 3002 3/4" 38 89 32 13 47 63 11 12 25 9 6 22 10 5
FK 3003 1" 4524 38.48 52.37 70 13.09 29.2 24 1 6 7.49 10.5
FK 3004 11/4" 5159 4369 58.72 79 15.09 36.3 22 16 7.49 10.5
FK3005 11/2" 61.09 50.8 69.85 94 17.86 411 25 16 7.49 13
FK 3006 2" 7224 6274 T77.77 102 21.44 48.2 26 16 9.02 13
FK3007 21/2" 8494 7493 88.9 114 25.4 54.1 38 19 9.02 13
FK 3008 3" 102.39 90.93 106.38 135 30.97 65.3 41 22 9.02 17

SAE FK 6000 PSI

FK 6001

FK 6002 3/4“ 42 06 32 51 50 8 1 1 9 20 8 26 10 5
FK 6003 1" 4841 38.86 57.15 81 13.88  34.95 33 25 9.02 13
FK 6004 11/4" 5476 4445 66.68 95 15.88 38.6 38 27 9.78 15
FK6005 11/2" 6429 5156 79.38 113 18.25 47.5 43 30 12.07 17
FK 6006 2" 80.16 67.56  96.82 133 22.23 56.9 52 37 12.07 21
FK6007 21/2" 108.9 90 123.8 180 29.4 75 60 45 20.5 25

FK 6008 3" 132.5 115 152.4 215 35.8 99.08 75 55 25.5 32




SAE FLANGE
CLAMPS

oL

@ N !
-
Q

+

KESIT (SECT.) K-K

~
|
-nrn*
T

A

SAE FK 3000 PSI

FK 3002T 3/ " 38 89 32 13 47 63 22 23 51 8 e 22 1o 5
FK3003T 1" 4524 3848 5237 7o 2619 584 24 16 749 105
FK3004T 11/4" 5159 4369 5872 79 3048 726 22 16 749 105
FK3005T 11/2" 61.09 508 69.85 94 3571 822 25 16 749 13

FK3006T 2" 7224 6274 7777 102 4288 964 26 16 902 13

FK3007T 21/2" 8494 7493 889 114 508 1082 38 19 902 13

FK3008T 3" 10239 9093 10638 135 6193 1306 41 22 902 17
SAE FK 6000 PSI

FK 6001T

FK 6002T 3/ " 42 oe 32 51 so 8 23 s s 26 1o 5
FK6003T 1" 4841 3886 57.15 81 27.76 69.9 33 25 9.02 13

FK6004T 11/4" 5476 4445 6668 95 3175 772 38 27 978 15

FK6005T 11/2" 6429 5156 79.38 113 365 95 43 3 1207 17

FK6006T 2"  80.16 67.56 96.82 133 4445 1138 52 37 1207 21

FK6007T 21/2" 1089 90 1238 180 588 1502 60 45 205 25

FK6008T 3" 132.5 115 152.4 215 716  198.16 75 55 25.5 32




SAE BORU DI, O-RINGLI
POMPA ADAPTORU

|
] 1
‘ -
| w w e <
Q ‘ ‘
O-Ring -~
| |
a— l —
- G -
KESIT (SECT.) A-A
SAE 3000 PSI
SAE 3001 18.66X3.53
SAE 3002 R 3/4" 47 63 22 23 10 5 M 10X35 25X3.53
SAE 3003 R1" 25 52.37 70 26.19 55 38 18 22 10.5 M10X35  32.92X3.53

SAE 3004 R11/4" 32 5872 79 30.18 68 41 21 22 10.5 M 10X40 37.7X3.53
SAE 3005 R11/2" 38 69.85 93 3571 78 45 25 24 13 M 12X45  47.22X3.53

SAE 3006 R2" 51 7777 102 4288 90 45 25 30 13 M 12X45  56.75X3.53
SAE 3007 R2-1/2" 683 889 114 508 105 50 25 30 13 M 12X45  69.45X3.53
SAE 3008 R 3" 73 106.38 134 6193 124 50 27 34 17 M 16X50  85.32X3.53
SAE 3009 R3-1/2" 89 120.65 152 69.85 136 48 27 34 17 M 16X50  98.02X3.53
SAE 3010 R 4" 99 130.18 162 77.77 146 48 27 34 17 M 16X50 110.72X3.53
SAE 3011 R 5" 120 1524 190 92.08 180 50 28 30 17 M 16X55 136.12X3.53
SAE 6000 PSI

SAE 6001 18.66X3.53
SAE 6002 R 3/4" 50 8 23 8 10 5 M 10X35 25X3.53
SAE 6003 R1" 25 57.15 81 27.76 65 42 25 24 13 M 12X45  32.92X3.53

SAE 6004 R11/4" 32 66.68 95 31.75 78 45 27 25 15 M 14X45 37.7X3.53
SAE 6005 R11/2" 38 79.38 112 36.5 94 50 30 28 17 M 16X50  47.22X3.53
SAE 6006 R2" 51 96.82 134 4445 114 65 37 30 21 M 20X65  56.75X3.53
SAE 6007 R21/2" 63 123.8 165 58.70 152 80 45 45 25 M 24x75  69.45x3.53
SAE 6008 R 3" 73 1524 208 7140 178 90 50 55 32 M 30x80 85.32x3.53




SAE SOCKET WELDING
KEYED FLANGE MOUNTING
WITHOUT O-RING

K H
1,
i
O Y Y ]
ol =) <
T Q Q
()/ | ] |
\ 2
K
o l p—
c G
D
KESIT (SECT.) K-K
SAE 3000 PSI
SAE 3001K
SAE 3002K 27 2 47 63 22 23 M10

SAE 3003K 34 25 52.37 70 26.19 55 38 1 8 1 9 M10
SAE 3004K 42.8 32 5872 79 30.18 68 41 21 22  M10
SAE 3005K 48.6 38 6985 93 3571 78 45 25 24 M2
SAE 3006K 61 51 7777 102 4288 90 45 25 26 M12
SAE 3007K 76.6 63 889 114 508 105 50 25 30 M2
SAE 3008K 90.5 73 106.38 134 6193 124 50 27 34 Mi6
SAE 3009K 103 89 12065 152 69.85 136 48 27 34 Mi6
SAE 3010K 115.5 99 130.18 162 77.77 146 48 27 34 M6
SAE 3011K 142 120 1524 190 92.08 180 50 28 30 Mi6

SAE 6000 PSI
SAE 6001K
SAE 6002K 27 2 50 8 23 8 M10

SAE 6003K 34 25 &7-18 81 27.76 65 42 25 22 M12
SAE 6004K 42.8 32 66.68 95 3175 78 45 27 25 M4
SAE 6005K 48.6 38 7938 112 365 94 50 30 28 Mi6
SAE 6006K 61 51 96.82 134 4445 114 65 37 24  M20
SAE 6007K 76.6 63 1238 165 58.70 152 80 45 45  M24
SAE 6008K 90.5 73 1524 208 7140 178 90 50 55 M30




SAE KAYNAKLIK O—RiNGL__i
POMPA ADAPTORU

] /
|
- . @ <
Q Q
| i
‘ / |
O-Ring
|
— G -
KESIT (SECT.) K-K
SAE 3000 PSI
SAE 30010K 18.66X3.53
SAE 30020K 27 2 47 63 22 23 10 5 M 10X35 25X3.53
SAE 30030K 34 25 52.37 70 26.19 55 38 1 8 1 9 105 M 10X35  32.92X3.53

SAE 30040K  42.8 32 5872 79 30.18 68 41 21 22 105 M 10X40 37.7X3.53
SAE 30050K  48.6 38 69.85 93 3571 78 45 25 24 13 M 12X45  47.22X3.53
SAE 30060K 61 51 7777 102 4288 90 45 25 26 13 M 12X45  56.75X3.53
SAE 30070K  76.6 63 889 114 508 105 50 25 30 13 M 12X45  69.45X3.53
SAE 30080K  90.5 73 106.38 134 6193 124 50 27 34 17 M 16X50  85.32X3.53
SAE 30090K 103 89 12065 152 69.85 136 48 27 34 17 M 16X50  98.02X3.53
SAE 30100K  115.5 99 130.18 162 77.77 146 48 27 34 17 M 16X50 110.72X3.53
SAE 30110K 142 120 1524 190 92.08 180 50 28 30 17 M 16X55 136.12X3.53

SAE 6000 PSI

SAE 60010K 18.66X3.53
SAE 60020K 27 2 50 8 23 8 10 5 M 10X35 25X3.53
SAE 60030K 34 25 57.15 81 27.76 65 42 25 22 135 M12X45  32.92X3.53

SAE 60040K  42.8 32 6668 95 3175 78 45 27 25 15 M 14X45 37.7X3.53
SAE 60050K  48.6 38 7938 112 36.5 94 50 30 28 175 M16X50 47.22X3.53
SAE 60060K 61 51 96.82 134 4445 114 65 37 24 21 M 20X65  56.75X3.53
SAE 60070K  76.6 63 123.8 165 58.70 152 80 45 45 25 M 24x75  69.45x3.53
SAE 60080K  90.5 73 1524 208 71.40 178 90 50 55 32 M30x80  85.32x3.53




SAE PIPE THREADED
KEYED FLANGE MOUNTING
WITHOUT O-RING

K o H 4
&
T wl o w “@’ <
= O/ ] 1
g
K———
c — —
~eotlf G -
D .
- - KESIT (SECT.) K-K
SAE 3000 PSI
SAE 3001V
SAE 3002V R 3/ ! 47 63 22 23 M10
SAE 3003V R1" 25 52.37 70 26.19 55 38 1 8 22 M10

SAE 3004V R11/4" 32 5872 79 30.18 68 41 21 22  M10
SAE 3005V R11/2" 38 69.85 93 3571 78 45 25 24 M2

SAE 3006V R2" 51 7777 102 4288 90 45 25 30 M1i2
SAE 3007V R2-1/2" 63 88.9 114 508 105 50 25 30 M12
SAE 3008V R 3" 73 106.38 134 6193 124 50 27 34 M16
SAE 3009V R3-1/2" 89 120.65 152 69.85 136 48 27 34 Mi6
SAE 3010V R 4" 99 130.18 162 77.77 146 48 27 34 Mi16

SAE 3011V R 5" 120 1524 190 92.08 180 50 28 30 Mi6

SAE 6000 PSI

SAE 6001V

SAE 6002V R 3/4" 50 8 23 8 M10
SAE 6003V R 1" 25 57.15 81 27.76 65 42 25 24 M12

SAE 6004V R11/4" 32 66.68 95 31.75 78 45 27 25 Mi14
SAE 6005V R11/2" 38 7938 112 36.5 94 50 30 28 Mi6
SAE 6006V R2" 51 96.82 134 4445 114 65 37 30 M20
SAE 6007V R21/2" 63 123.8 165 58.70 152 80 45 45  M24
SAE 6008V R 3" 73 1524 208 71.40 178 90 50 55 M30




SAE BORU DI$
DIRSEK POMPA ADAPTORU

C S2

€
Ih

SAED 3000 PSI

SAED 3001 18.66X3.53
SAED 3002 R 3/ ! 47 63 22 23 10 5 M 10X35 25X3.53

SAED 3003 R1" 25 52.37 70 26.19 70 60 19 20 10.5 28 43 M 10x35 32.92X3.53
SAED 3004 R1-1/4" 32 5872 79 30.18 85 73 21 22 105 34 51 M 10x40  37.7X3.53
SAED 3005 R1-1/2" 38 69.85 93 3571 95 83 25 25 13 38 56 M 12x45  47.22X3.53
SAED 3006 R2" 51 7777 110 4288 110 94 25 28 13 42 65 M 12x45  56.75X3.53

SAED 6000 PSI

SAED 6001 8x30  18.66X3.53
SAED 6002 R 3/4" 50 8 23 8 10 5 M 10x35 25X3.53

SAED 6003 R 1" 25 5715 79 27.76 85 72 21 22 13 34 51 M 12x45  32.92X3.53
SAED 6004 R1-1/4" 32 6668 93 3175 95 75 25 25 15 38 56 M 14x50  37.7X3.53
SAED 6005 R1-1/2" 38 79.38 110 365 110 94 25 28 17 42 65 M 16x50 47.22X3.53

SAED 6006 R2" 51 96.82 134 445 150 106 26 28 21 60 92 M20x110 56.75X3.53




SAE WELD IN
90° FLANGE MOUNTING

S2

QA

€
)

O
Ih

oL

| T OB \O-Ring

SAED 3000 PSI

SAED 30011 18.66X3.53
SAED 3002I 27 2 47 63 22 23 10 5 M 10X35 25X3.53

SAED 3003I 34 25 52.37 70 26.19 70 60 1 9 1 2 10.5 28 43 M 10x35 32.92X3.53
SAED 3004I 42.8 32 5872 79 30.18 85 68 21 14 105 34 51 M 10x40  37.7X3.53
SAED 3005I 48.6 38 69.85 93 35.71 95 78 25 16 13 38 56 M 12x45  47.22X3.53
SAED 3006I 61 51 7777 110 4288 110 90 25 18 13 42 65 M 12x45  56.75X3.53

SAED 6000 PSI

SAED 60011 18.66X3.53
SAED 6002I 27 2 50 8 23 8 10 5 M 10x35 25X3.53

SAED 6003I 34 25 5719 79 27.76 85 70 21 1 4 13 34 51 M 12x45  32.92X3.53
SAED 6004! 42.8 32 6668 93 3175 95 78 25 16 15 38 56 M 14x50  37.7X3.53
SAED 6005I 48.6 38 7938 110 365 110 94 25 18 17 42 65 M 16x50 47.22X3.53

SAED 6006! 61 51 96.82 134 445 150 106 26 18 21 60 92 M20x110 56.75X3.53




SAE DISTAN KAYNAKLIK
DIRSEK POMPA ADAPTORU

@ F2

SAED 3000 PSI

F1

oL

S1

=

2B

QA

SAED 3001D
SAED 3002D
SAED 3003D
SAED 3004D
SAED 3005D
SAED 3006D

27 2
34.5
42.8
48.6
61

SAED 6000 PSI

SAED 6001D
SAED 6002D
SAED 6003D
SAED 6004D
SAED 6005D
SAED 6006D

27 2
345
42.8
48.6
61

25
32
38
51

25
32
38
51

47 63
52.37
58.72
69.85
77.77

50 8
57.15
66.68
79.38
96.82

70
79
93
110

79
93
110
134

22 23
26.19
30.18
35.71
42.88

23 8
27.76
31.75
36.5
44.5

70
85
95
110

85
95
110
150

60
68
78
90

70
78
94
106

19
21
25
25

21
25
25
26

12
14
16
18

14
16
18
18

105
10.5
10.5
13
13

105
13
15
17
21

28
34
38
42

34
38
42
60

43
51
56
65

51
56
65
92

M 10X35
M 10x35
M 10x40
M 12x45
M 12x45

M 10X35
M 12x45
M 14x50
M 16x50
M 20x110

18.66X3.53
25X3.53
32.92X3.53
37.7X3.53
47.22X3.53
56.75X3.53

18.66X3.53
25X3.53
32.92X3.53
37.7X3.53
47.22X3.53
56.75X3.53



SAE BLIND FLANGE
MOUNTING WITH O-RING

QF

oL H

RS — —

SAEK 3000 PSI

SAEK 30010 M 8x30 18.66X3.53
SAEK 30020 3/ " 47 63 22 23 10 5 M 10x35 25X3.53
SAEK 30030 1" 52.37 70 26.19 60 1 9 10.5 M 10x35 32.92X3.53
SAEK 30040  1-1/4" 58.72 79 30.18 68 18 10.5 M 10x40 37.7X3.53
SAEK 30050  1-1/2" 69.85 93 35.71 78 20 13 M 12x45 47.22X3.53
SAEK 30060 2" 77.77 102 42.88 90 20 13 M 12x45 56.75X3.53
SAEK 30070  2-1/2" 88.9 114 50.8 105 20 13 M 12x45 69.45X3.53
SAEK 30080 3" 106.38 134 61.93 124 24 17 M 16x50 85.32X3.53
SAEK 30090  3-1/2" 120.65 152 69.85 136 22 17 M 16x50 98.02X3.53
SAEK 30100 4" 130.18 162 77.77 146 25 17 M 16x50 110.72X3.53
SAEK 30110 5! 152.4 190 92.08 170 28 17 M 16x50 136.12X3.53

SAEK 6000 PSI

SAEK 60010 M 8x30 18.66X3.53
SAEK 60020 3/ " 50 8 23 8 10 5 M 10x35 25X3.53

SAEK 60030 1" S5 81 27.76 70 24 13 M 12x45 32.92X3.53
SAEK 60040  1-1/4" 66.68 95 31.75 78 27 15 M 14x45 37.7X3.53
SAEK 60050  1-1/2" 79.38 112 36.5 94 30 17 M 16x50 47.22X3.53
SAEK 60060 2" 96.82 134 44.45 114 28 21 M 20x65 56.75X3.53
SAEK 60070  2-1/2" 123.8 180 58.8 150 45 26 M 24x75 69.45X3.53

SAEK 60080 3" 152.4 208 71.4 178 50 32 M 30x80 85.32X3.53




SAE O-RINGSIzZ
KILAVUZLU KOR FLANS

SAEK 3000 PSI

SAEK 3001 172"

SAEK 3002 3/4" 47 63 22 23 M 10
SAEK 3003 1" 52.37 70 26.19 60 19 M 10
SAEK 3004 1-1/4" 58.72 79 30.18 68 18 M 10
SAEK 3005 1-1/2" 69.85 93 35.71 78 20 M 12
SAEK 3006 2" 77.77 102 42.88 90 20 M12
SAEK 3007 2-1/2" 88.9 114 50.8 105 20 M12
SAEK 3008 3" 106.38 134 61.93 124 24 M 16
SAEK 3009 3-1/2" 120.65 152 69.85 136 22 M 16
SAEK 3010 4" 130.18 162 77.77 146 25 M 16
SAEK 3011 5 152.4 190 92.08 170 28 M 16

SAEK 6000 PSI

SAEK 6001

SAEK 6002 3/4“ 50 8 23 8 M 10
SAEK 6003 1" 57.15 81 27.76 70 24 M 12
SAEK 6004 1-1/4" 66.68 95 31.75 78 27 M 14
SAEK 6005 1-1/2" 79.38 112 36.5 94 30 M 16
SAEK 6006 2" 96.82 134 44.45 114 28 M 20
SAEK 6007 2-1/2" 123.8 180 58.8 150 45 M 24

SAEK 6008 3" 152.4 208 71.4 178 50 M 30




HIiDURO

HYDRAULIC

Musalla Baglar mh. Sesigiir Sk. .
No.40/1 Selcuklu /Konya /TURKIYE
+90 332 222 00 52 & =

www.hiduro.com
info@hiduro.com sz
ventas@hiduro.com

hiduro.com High Durability






